Listening the conversation then answer .

Listen to this conversation of 2 friends who met after a long time ago . then chooose the corect
answer .

1 Ana and Peter haven't met for:

A nine years
B eight yeras
(] SiX years

D four years

2 Peter and Ana last saw each other .

A a graduation celebration
B a graduation ceremony .
C a graduation party

D a wedding celebration.

3 Why did Peter get his hair cut short .

A He wanted to look more formal.
B a friend advised him to do so

c He got tired of washing it so often
D He wanted to look fashioned.

4 peter shaved his beard

A 3 yeras ago
B 5 yeras ago
c 8 years ago
A 10 years ago



PART 2

COMPLETE THE SENTENCES WITH 1 or 2 WORDS .

5 peter and Anna have been

6 Katherine has been a

7 Bengie was a

8 Peter has changed is a lot better .

9 Anna has changed it was too small .

10 they are going to have after 7.




